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内 容 提 要

本书根据上海市高考英语试卷中语法、词汇、翻译和完形的题目设置，设计了４５套活页套卷，
每个套卷含有单项选择、汉英翻译和完形填空三种题型，使读者在全面提高综合语言技能的同时，
了解和熟悉高考题型，既可作为学生平时课外的读物，也可以作为应考前的练习。
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前　言

常有英语学习者在学习的过程中将语法、词汇割裂开来，虽然不断地抠语法

条目，不断地背单词，时间花了不少，但是一到综合运用的时候，就错误百出。其

实语言是鲜活立体的，可以适当地加强各方面的薄弱环节，但是就语言学习而言

一定要全面综合地来掌握。近几年来高考英语的趋势也是突出语言交际性，各

种题型的设计也是重在强调考查考生语言的综合运用能力，而不是割裂考查语

法或者词汇。这就提醒考生们在日常的学习中一定要综合掌握各种语言知识，

而在平时训练的时候也一定要有明确的方向，针对各个题型一定要有的放矢。

针对这一情况，我们编写了本书。本书把高考英语中三个最能通过短时训

练来迅速提升的三个部分编写在一起。本书编写的三个题型看似前后关联不

大，但却是语言习得的三个重要方面：词汇基础、语法体系和综合运用的体现。

之所以把它们聚集在一书上，是为了让考生们在这三个方面方便操练，精操练，

以达到事半功倍的效果。

尤其是语法题，一定要在梳理基础考点的基础上，选择典型题目，做得少，弄

得懂错题错在哪里。而熟悉常见的各类从句以及句型表达，不仅有助于提高语

法题的分数，对于接下来的翻译题也颇有帮助。所以做了语法题之后，可以加强

翻译的练习，既获得对语法现象的理解，又上升到语言的表达，由浅入深。翻译

题关键是看透所给的提示词所带的句型，常见句型一定要加强熟悉度。我们说

翻译和阅读题一样要天天接触，而阅读题中又数完形填空题最容易错，因为完形

填空题考查语言综合能力的运用。因此，这三个题型的结合训练，体现了点到线

到面的变化，让考生能由易到难，步步提升。

本书中精选了三题型的典型句式和篇幅，具有时文阅读的特点，也不乏经典

题目，结合新旧的优势，但愿广大考生能从日积月累的训练中的到点滴裨益。

编　者
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２
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（　　）１９．Ｈｅｒｅ　ａｒｅ　ａｌｌ　ｋｉｎｄｓ　ｏｆ　ｍｏｂｉｌｅ　ｐｈｏｎｅｓ　ｉｎ　ｔｈｅ　ｃｅｎｔｅｒ．Ｔｏｇｅｔｈｅｒ　ｗｉｔｈ　　　　 ｍａｄｅ
ｉｎ　Ｃｈｉｎａ，ｙｏｕ　ｃａｎ　ａｌｓｏ　ｆｉｎｄ　　　　 ｐｈｏｎｅｓ　ｉｍｐｏｒｔｅｄ　ｆｒｏｍ　Ｊａｐａｎ　ａｎｄ　ｏｔｈｅｒ
Ａｓｉａｎ　ｃｏｕｎｔｒｉｅｓ．
Ａ．ｏｎｅｓ；ｓｏｍｅ　 Ｂ．ａｌｌ；ｏｎｅｓ
Ｃ．ｏｎｅｓ；ｏｔｈｅｒｓ　 Ｄ．ｔｈｏｓｅ；ａ　ｆｅｗ

（　　）２０．— Ｗｈｙ　ｄｉｄｎｔ　ｙｏｕ　ａｔｔｅｎｄ　ｙｅｓｔｅｒｄａｙｓ　ｐａｒｔｙ？
—Ｉ　　　　，ｂｕｔ　ｍｙ　ｍｏｔｈｅｒ　ｆｅｌｌ　ｉｌｌ　ｓｕｄｄｅｎｌｙ．
Ａ．ｗｏｕｌｄ　 Ｂ．ｄｉｄ
Ｃ．ｄｉｄｎｔ　 Ｄ．ｗａｓ　ｇｏｉｎｇ　ｔｏ

Ⅱ．Ｄｉｒｅｃｔｉｏｎｓ：Ｔｒａｎｓｌａｔｅ　ｔｈｅ　ｆｏｌｌｏｗｉｎｇ　ｓｅｎｔｅｎｃｅｓ　ｉｎｔｏ　Ｅｎｇｌｉｓｈ　ｕｓｉｎｇ　ｔｈｅ　ｗｏｒｄｓ　ｇｉｖｅｎ　ｉｎ
ｔｈｅ　ｂｒａｃｋｅｔｓ．

１．他并不总是依赖父母。（ｄｅｐｅｎｄｅｎｔ）

　
２．中华人民共和国建国已有５５周年。（ｓｉｎｃｅ）

　
３．多吃点水果，那样你就不用担心缺少维生素。（ｌａｃｋ）

　
４．不管到哪儿旅游，最好是入乡随俗。（ｂｅｔｔｅｒ）

　
５．今年暑假到北京旅游时，我们就住在数年前度蜜月的那家旅馆。（ｗｈｉｃｈ）

　
６．他肯定缺少与她结婚的勇气。（ｌａｃｋ）

　

Ⅲ．Ｄｉｒｅｃｔｉｏｎｓ：Ｆｏｒ　ｅａｃｈ　ｂｌａｎｋ　ｉｎ　ｔｈｅ　ｆｏｌｌｏｗｉｎｇ　ｐａｓｓａｇｅ　ｔｈｅｒｅ　ａｒｅ　ｆｏｕｒ　ｗｏｒｄｓ　ｏｒ　ｐｈｒａｓｅｓ
ｍａｒｋｅｄ　Ａ，Ｂ，Ｃ　ａｎｄ　Ｄ．Ｆｉｌｌ　ｉｎ　ｅａｃｈ　ｂｌａｎｋ　ｗｉｔｈ　ｔｈｅ　ｗｏｒｄ　ｏｒ　ｐｈｒａｓｅ　ｔｈａｔ　ｂｅｓｔ　ｆｉｔｓ
ｔｈｅ　ｃｏｎｔｅｘｔ．

　　Ｂｅｆｏｒｅ　１９３３，ａｎｄ　ｐａｒｔｉｃｕｌａｒｌｙ　ｄｕｒｉｎｇ　ｔｈｅ　ｐｅｒｉｏｄ　１９２９－１９３３，ｂａｎｋ　ｆａｉｌｕｒｅｓ　ｗｅｒｅ　ｎｏｔ
ｕｎｃｏｍｍｏｎ．　１　ａ　ｂａｎｋ　ｏｖｅｒｅｘｔｅｎｄｅｄ　ｉｔｓｅｌｆ　ｉｎ　ｃｒｅａｔｉｎｇ　ｃｒｅｄｉｔ　ｏｒ　ｉｆ　ｓｅｖｅｒａｌ　ｏｆ　ｉｔｓ　ｉｍｐｏｒｔａｎｔ
ｌｏａｎｓ　ｃｏｕｌｄ　ｎｏｔ　ｂｅ　２　，ｄｅｐｏｓｉｔｏｒｓ　ｉｎ　ｔｈｅ　ｂａｎｋ　ｗｏｕｌｄ　ｆｒｅｑｕｅｎｔｌｙ　ｂｅｃｏｍｅ　ｐａｎｉｃｋｙ　ａｎｄ　ｂｅｇｉｎ
ｔｏ　ｍａｋｅ　ｌａｒｇｅ　ｗｉｔｈｄｒａｗａｌｓ．　３　ｔｈｅ　ｂａｎｋ　ｈａｄ　ｏｎｌｙ　ａ　ｓｍａｌｌ　ｎｕｍｂｅｒ　ｏｆ　ｉｔｓ　ｄｅｐｏｓｉｔｓ　ｂａｃｋｅｄ　ｂｙ
ｃｕｒｒｅｎｃｙ，ｔｈｅ　ｂａｎｋ　ｗｏｕｌｄ　ｓｏｏｎ　ｂｅ　ｕｎａｂｌｅ　ｔｏ　ｍｅｅｔ　ｗｉｔｈｄｒａｗａｌｓ，ａｎｄ　ｍｏｓｔ　ｄｅｐｏｓｉｔｏｒｓ　４　
ｔｈｅｉｒ　ｍｏｎｅｙ．Ｍｏｓｔ　ｆｒｅｑｕｅｎｔｌｙ　ａ　ｂａｎｋ　ｍｅｒｅｌｙ　ｎｅｅｄｅｄ　ｔｉｍｅ　ｔｏ　ｉｍｐｒｏｖｅ　ｉｔｓ　ｃａｓｈ　ｐｏｓｉｔｉｏｎ　ｂｙ
　５　ｓｏｍｅ　ｏｆ　ｉｔｓ　ｌｏａｎｓ　ａｎｄ　ｎｏｔ　ｍａｋｉｎｇ　ａｄｄｉｔｉｏｎａｌ　ｏｎｅｓ．Ｉｎ１９３３，ｔｈｅ　ｎｕｍｂｅｒ　ｏｆ　ｂａｎｋ　ｆａｉｌｕｒｅｓ
　６　ａｐｅａｋ，ｆｏｒｃｉｎｇ　ｔｈｅ　ｆｅｄｅｒａｌ　ｇｏｖｅｒｎｍｅｎｔ　ｔｏ　ｉｎｔｅｒｖｅｎｅ　ａｎｄ　７　ｔｈｅ　ｂａｎｋｓ　ｔｅｍｐｏｒａｒｉｌｙ．
Ｔｏ　ｈｅｌｐ　ｒｅｓｔｏｒｅ　ｔｈｅ　ｐｕｂｌｉｃｓ　ｃｏｎｆｉｄｅｎｃｅ　８　ｂａｎｋｓ　ａｎｄ　ｓｔｒｅｎｇｔｈｅｎ　ｔｈｅ　ｂａｎｋｉｎｇ　ｃｏｍｍｕｎｉｔｙ，

Ｃｏｎｇｒｅｓｓ　ｐａｓｓｅｄ　ｌｅｇｉｓｌａｔｉｏｎ　ｓｅｔｔｉｎｇ　ｕｐ　ｔｈｅ　Ｆｅｄｅｒａｌ　Ｄｅｐｏｓｉｔ　Ｉｎｓｕｒａｎｃｅ　Ｃｏｒｐｏｒａｔｉｏｎ．　９　

３
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ｃｏｒｐｏｒａｔｉｏｎ，ａｎ　ａｇｅｎｃｙ　ｏｆ　ｔｈｅ　ｆｅｄｅｒａｌ　ｇｏｖｅｒｎｍｅｎｔ，ｎｏｗ　ｉｎｓｕｒｅｓ　ｏｖｅｒ　９０　ｐｅｒｃｅｎｔ　ｏｆ　ａｌｌ　ｍｕｔｕａｌ
ｓａｖｉｎｇｓ　ａｎｄ　ｃｏｍｍｅｒｃｉａｌ　ｂａｎｋ　ｄｅｐｏｓｉｔｓ　ｆｏｒ　１０　 ＄１００，０００ｐｅｒ　ｄｅｐｏｓｉｔ．Ｔｈｅ　ＦＤＩＣ　ｈａｓ
　１１　ｉｔｓ　ｉｎｓｕｒａｎｃｅ　ｆｕｎｄ　ｂｙ　ｃｈａｒｇｉｎｇ　ｍｅｍｂｅｒ　ｉｎｓｔｉｔｕｔｉｏｎｓ　ｏｎｅ－ｔｗｅｌｆｔｈ　ｏｆ　１　ｐｅｒｃｅｎｔ　ｏｆ　ｔｈｅｉｒ
ｔｏｔａｌ　ｄｅｐｏｓｉｔｓ．

Ａｓ　ａ　ｒｅｓｕｌｔ　ｏｆ　ｔｈｅ　ｐｒｏｔｅｃｔｉｏｎ　ｐｒｏｖｉｄｅｄ　ｂｙ　ｔｈｅ　ＦＤＩＣ　ａｎｄ　ｔｈｒｏｕｇｈ　ｏｔｈｅｒ　ｋｉｎｄｓ　ｏｆ
ｓｕｐｅｒｖｉｓｉｏｎ，ｂａｎｋ　ｆａｉｌｕｒｅｓ　ｈａｖｅ　ｂｅｅｎ　１２　ｔｏ　ａ　ｆｅｗ　ｉｓｏｌａｔｅｄ　ｉｎｓｔａｎｃｅｓ．Ｗｈｅｎ　ｄｅｐｏｓｉｔｓ　ａｒｅ
ｆｅｄｅｒａｌｌｙ　ｉｎｓｕｒｅｄ，ｐｅｏｐｌｅ　１３　ｒｕｓｈ　ｔｏ　ｗｉｔｈｄｒａｗ　ｔｈｅｉｒ　ｍｏｎｅｙ　ｉｆ　ｔｈｅｙ　１４　ｔｈｅ　ｆｉｎａｎｃｉａｌ
ｃｏｎｄｉｔｉｏｎ　ｏｆ　ｔｈｅｉｒ　ｂａｎｋ．Ｔｈｅ　ｄｅｌａｙ　ｇｉｖｅｓ　ｔｈｅ　ｂａｎｋｓ　ｔｈｅ　ｎｅｃｅｓｓａｒｙ　ｔｉｍｅ　ｔｏ　ａｄｊｕｓｔ　ｔｈｅｉｒ　ｃａｓｈ
ｃｒｅｄｉｔ　ｂａｌａｎｃｅ，ａｎｄ　ｔｈｉｓ　ａｃｔｉｏｎ　ｈｅｌｐｓ　ｔｏ　ｒｅｄｕｃｅ　ｔｈｅ　１５　ｏｆ　ｂａｎｋｒｕｐｔｃｙ．Ｆｏｒ　ａｎ　ｅｘａｍｐｌｅ　ｏｆ
ｔｈｅ　ｖａｌｕｅ　ｏｆ　ｔｈｅ　ＦＤＩＣ，ｎｏｔｅ　ｔｈａｔ　ｔｈｅ　ｆａｉｌｕｒｅ　ｉｎ　１９７４　ｏｆ　ｔｈｅ　ｈｕｇｅ　Ｆｒａｎｋｌｉｎ　Ｎａｔｉｏｎａｌ　Ｂａｎｋ　ｄｉｄ
ｎｏｔ　ｔｏｕｃｈ　ｏｆｆ　ａ　ｐａｎｉｃ，ａｎｄ　ｔｈａｔ　ｄｅｐｏｓｉｔｏｒｓ　ｌｏｓｔ　ｎｏ　ｍｏｎｅｙ　ａｓ　Ｆｒａｎｋｌｉｎ　ｗａｓ　ｔａｋｅｎ　ｏｖｅｒ　ｂｙ
ａｎｏｔｈｅｒ　ｂａｎｋ．
（　　）１．Ａ．Ａｌｔｈｏｕｇｈ　 Ｂ．Ｅｖｅｎ　ｉｆ　 Ｃ．Ｉｆ　 Ｄ．Ｂｅｃａｕｓｅ
（　　）２．Ａ．ｒｅｐａｉｄ　 Ｂ．ｄｅｐｏｓｉｔｅｄ　 Ｃ．ｆｏｕｎｄ　 Ｄ．ｓａｖｅｄ
（　　）３．Ａ．Ｂｅｃａｕｓｅ　 Ｂ．Ｂｅｃａｕｓｅ　ｏｆ

Ｃ．Ａｓ　ａ　ｒｅｓｕｌｔ　 Ｄ．ｃｏｎｓｉｄｅｒｉｎｇ
（　　）４．Ａ．ｌｏｓｔ　 Ｂ．ｈａｄ　ｌｏｓｔ

Ｃ．ｗｉｌｌ　ｌｏｓｅ　 Ｄ．ｗｏｕｌｄ　ｌｏｓｅ
（　　）５．Ａ．ｃａｌｌｉｎｇ　ｏｎ　 Ｂ．ｃａｌｌｉｎｇ　ｆｏｒ

Ｃ．ｃａｌｌｉｎｇ　ｏｆｆ　 Ｄ．ｃａｌｌｉｎｇ　ｉｎ
（　　）６．Ａ．ｆｅｌｌ　ｆｒｏｍ　 Ｂ．ｒｅａｃｈｅｄ

Ｃ．ｃｌｉｍｂｅｄ　ｕｐ Ｄ．ａｒｒｉｖｅｄ
（　　）７．Ａ．ｃｌｏｓｅｄ　 Ｂ．ｃｌｏｓｉｎｇ

Ｃ．ｃｌｏｓｅ　 Ｄ．ｈａｓ　ｃｌｏｓｅｄ
（　　）８．Ａ．ｔｏ　 Ｂ．ｉｎ　 Ｃ．ｏｆ　 Ｄ．ｉｎｔｏ
（　　）９．Ａ．Ｆｏｒ　ｔｈｅ　 Ｂ．Ｔｈｉｓ　 Ｃ．Ａｓ　ａ　 Ｄ．Ａ
（　　）１０．Ａ．ｕｐ　ｔｏ　 Ｂ．ａｓ　ｍｕｃｈ　 Ｃ．ａｓ　ｍａｎｙ　ａｓ　 Ｄ．ｅｑｕａｌ
（　　）１１．Ａ．ｂｕｉｌｔ　ｕｐ Ｂ．ｂｕｉｌｄ　ｕｐ

Ｃ．ｂｅｅｎ　ｂｕｉｌｔ　 Ｄ．ｂｕｉｌｄ
（　　）１２．Ａ．ｇｒｏｗｉｎｇ Ｂ．ｉｎｃｒｅａｓｅｄ

Ｃ．ｒｅｄｕｃｅｄ　 Ｄ．ｄｉｓａｐｐｅａｒｅｄ
（　　）１３．Ａ．ｎｏ　 Ｂ．ａｎｙ　ｍｏｒｅ

Ｃ．ｎｏ　ｌｏｎｇｅｒ　 Ｄ．ｎｏｔ　
（　　）１４．Ａ．ｂｅｃｏｍｅ　ｃｏｎｃｅｒｎｅｄ　ａｂｏｕｔ　 Ｂ．ｂｅｃｏｍｅ　ｃｏｎｃｅｒｎｅｄ　ｗｉｔｈ

Ｃ．ｂｅｃｏｍｅ　ｃｏｎｃｅｒｎｅｄ　ｉｎ　 Ｄ．ｃｏｎｃｅｒｎ
（　　）１５．Ａ．ｌｉｋｅｌｙ Ｂ．ｐｏｓｓｉｂｉｌｉｔｙ

Ｃ．ｐｏｓｓｉｂｌｙ Ｄ．ｏｐｐｏｒｔｕｎｉｔｙ
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ＧＲＡＤＥ

　Ｔｅｓｔ　２　

Ⅰ．Ｄｉｒｅｃｔｉｏｎｓ：Ｂｅｎｅａｔｈ　ｅａｃｈ　ｏｆ　ｔｈｅ　ｆｏｌｌｏｗｉｎｇ　ｓｅｎｔｅｎｃｅｓ　ｔｈｅｒｅ　ａｒｅ　ｆｏｕｒ　ｃｈｏｉｃｅｓ　ｍａｒｋｅｄ
Ａ，Ｂ，Ｃ　ａｎｄ　Ｄ．Ｃｈｏｏｓｅ　ｔｈｅ　ｏｎｅ　ａｎｓｗｅｒ　ｔｈａｔ　ｂｅｓｔ　ｃｏｍｐｌｅｔｅｓ　ｔｈｅ　ｓｅｎｔｅｎｃｅ．

（　　）１．Ｏｌｄ　ａｓ　ｒｅｔｉｒｅｄ　ｇｅｎｅｒａｌ　ｗａｓ，ｈｅ　　　　ｈｉｍｓｅｌｆ　ｆｒｏｍ　ａ　ｈｅａｖｙ　ｆａｌｌ　ｂｙ　ｃａｔｃｈｉｎｇ　ａｎ
ｉｒｏｎ　ｂａｒ　ｗｈｉｌｅ　ｗａｌｋｉｎｇ　ｎｅａｒ　ａ　ｐｏｎｄ　ｙｅｓｔｅｒｄａｙ　ｍｏｒｎｉｎｇ．
Ａ．ｐｒｅｓｅｒｖｅｄ　 Ｂ．ｇｏｔ　ｒｉｄ　ｏｆ　 Ｃ．ｒｅｌｉｅｖｅｄ　 Ｄ．ｓａｖｅｄ

（　　）２．Ｒｅｍｅｍｂｅｒ，ｍｙ　ｂｏｙ，ｗｈｅｎ　ｙｏｕ　ｇｉｖｅ　ａ　ｓｐｅｅｃｈ　ｎｅｘｔ　Ｍｏｎｄａｙ　ｉｎ　ｔｈｅ　ｐｕｂｌｉｃ，ｙｏｕ
ｍｕｓｔ　ｔｒｙ　ｔｏ　ｂｅ　ｂｒｉｅｆ　ａｎｄ　　　　．
Ａ．ｔｏ　ｔｈｅ　ｐｏｉｎｔ　 Ｂ．ａｔ　ｔｈｅ　ｐｏｉｎｔ
Ｃ．ｈｉｔ　ｏｎ　ｔｈｅ　ｐｏｉｎｔ　 Ｄ．ｄｉｒｅｃｔｌｙ　ｓｔａｙ　ａｔ　ｔｈｅ　ｐｏｉｎｔ

（　　）３．Ｓｔａｎｄｉｎｇ　ｔｈｅｒｅ　ｓｔｉｌｌ　ｗａｔｃｈｉｎｇ　ｔｈｅ　ｅｘｃｉｔｉｎｇ　ｍａｔｃｈ，ｔｈｅ　Ｃａｎａｄｉａｎ　ａｎｎｏｕｎｃｅｒ　ｆｅｌｔ
ｓｏｍｅｔｈｉｎｇ　ｈａｒｄ　　　　ｏｎ　ｈｉｓ　ｒｉｇｈｔ　ｓｈｏｕｌｄｅｒ．
Ａ．ｌａｉｄ　 Ｂ．ｌａｙ　 Ｃ．ｌａｉｎ　 Ｄ．ｌｉｅｄ

（　　）４．Ｈｅｒ　ｃａｒｅｌｅｓｓｎｅｓｓ　ｗａｓ　　　　ｔｈｅ　ｆｉｎａｌ　ｆａｉｌｕｒｅ．
Ａ．ｂｌａｍｅｄ　ｆｏｒ　 Ｂ．ａｃｃｕｓｅｄ　ｏｆ
Ｃ．ｒｅｓｐｏｎｓｉｂｌｅ　ａｂｏｕｔ　 Ｄ．ｃａｕｓｅｄ　ｂｙ

（　　）５．— Ｗｈａｔ　ｄｏ　ｙｏｕ　ｔｈｉｎｋ　ｏｆ“Ｔｈｅ　Ｇｉａｎｔ”，ｗｈｉｃｈ　ｉｓ　ｂｅｉｎｇ　ｓｈｏｗｎ　ｉｎ　Ｓｈａｎｇｈａｉ
Ｃｉｎｅｍａ？

— 　　　　．
Ａ．Ｉｔ　ｉｓ　ｗｏｒｔｈ　ｗａｔｃｈｉｎｇ　ｔｈｅ　ｆｉｌｍ　ｔｗｉｃｅ
Ｂ．Ｉｔ　ｉｓ　ｗｅｌｌ　ｗｏｒｔｈ　ｗａｔｃｈｉｎｇ　ｔｈｅ　ｆｉｌｍ　ａ　ｓｅｃｏｎｄ　ｔｉｍｅ
Ｃ．Ｔｈｅ　ｆｉｌｍ　ｉｓ　ｗｏｒｔｈｙ　ｏｆ　ｂｅｉｎｇ　ｗａｔｃｈｅｄ　ａｇａｉｎ
Ｄ．Ｔｈｅ　ｆｉｌｍ　ｉｓ　ｗｏｒｔｈ　ｔｏ　ｗａｔｃｈ　ｔｗｉｃｅ

（　　）６．Ａｔ　ｔｈａｔ　ｔｉｍｅ　ｗｅ　ｗｅｒｅ　ｐｏｏｒ　ａｓ　ａ　ｃｈｕｒｃｈ　ｍｏｕｓｅ．Ｉ　ａｌｗａｙｓ　ｔｈｏｕｇｈｔ　ｔｈａｔ　ｗｅ　ｗｏｕｌｄ
ｎｅｖｅｒ　ｈａｖｅ　ｅｎｏｕｇｈ　ｍｏｎｅｙ　ｔｏ　　　　ａｌｌ　ｔｈｅ　ｄｅｂｔ．
Ａ．ｐａｙ　ｏｆｆ　 Ｂ．ｐａｙ　ａｗａｙ　 Ｃ．ｐａｙ　ｔｈｒｏｕｇｈ　 Ｄ．ｐａｙ　ｏｕｔ　

（　　）７．Ｉ　ｆｏｕｎｄ　ｍｙ　ｍｏｔｈｅｒ　ｗａｓ 　　　　 ｔｏ　Ｄｒ．Ｗｈｉｔｅｓ　ａｕｎｔ　ｉｎ　ｍａｎｙ　ｗａｙｓ．Ｆｏｒ
ｅｘａｍｐｌｅ，ｂｏｔｈ　ｏｆ　ｔｈｅｍ　ｌｉｋｅ　ｓｗｉｍｍｉｎｇ，ｂｏｔｈ　ｏｆ　ｔｈｅｍ　ｈａｖｅ　ａ　ｌｏｖｅｌｙ　ｄａｕｇｈｔｅｒ　ａｎｄ
ｂｏｔｈ　ｏｆ　ｔｈｅｍ　ｌｏｖｅ　ｐｅｔｓ．
Ａ．ａｌｉｋｅ　 Ｂ．ｌｉｋｅｌｙ　 Ｃ．ｓｉｍｉｌａｒ　 Ｄ．ｌｉｋｅ

５



（　　）８．Ｉｔｓ　ａｌｒｅａｄｙ　１０　ｏｃｌｏｃｋ．Ｉ　ｗｏｎｄｅｒ　ｗｈｙ　　　　ｐｅｒｓｏｎ　ｈａｓ　ｂｅｅｎ　ｉｎ　ｔｈｅ　ｈａｌｌ　ｓｏ
ｆａｒ．
Ａ．ｎｏ　ｓｉｎｇｌｅ　 Ｂ．ｎｏｔ　ａ　ｓｉｎｇｌｅ　 Ｃ．ｎｏｔ　 Ｄ．ｎｏ　ａ

（　　）９．Ｗｈｅｎ　ｔｈｅ　ｎｅｉｇｈｂｏｒｓ　ｒｕｓｈｅｄ　ｉｎｔｏ　ｔｈｅ　ｈｕｇｅ　ｈａｌｌ，ｔｈｅｙ　ｆｏｕｎｄ　ｎｏｔｈｉｎｇ　ｂｕｔ　ａ
　　　　ｃｉｇａｒｅｔｔｅ　ａｎｄ　ｈｅａｒｄ　ａ　ｔｏｎｅ　ｏｆ　　　　 ｍｕｓｉｃ．
Ａ．ｌｉｇｈｔｅｄ；ｌｉｇｈｔｅｄ　 Ｂ．ｌｉｔ；ｌｉｇｈｔ
Ｃ．ｌｉｔ；ｌｉｇｈｔｅｎ　 Ｄ．ｌｉｇｈｔｅｄ；ｌｉｇｈｔｌｙ

（　　）１０．Ｉｔ　ｉｓ　ｋｎｏｗｎ　ｔｏ　ｅｖｅｒｙｏｎｅ　ｔｈａｔ　ｈｉｇｈ　ｍａｎａｇｅｍｅｎｔ　ａｎｄ　ｐｒｏｄｕｃｔｉｏｎ　　　　 ｗｉｌｌ
ｄｅｆｉｎｉｔｅｌｙ　ｌｅａｄ　ｔｏ　ｈｉｇｈ　　　　ｉｎ　ｔｈｅ　ｍａｒｋｅｔ．
Ａ．ｐｒｉｃｅｓ；ｖａｌｕｅｓ　 Ｂ．ｃｏｓｔｓ；ｖａｌｕｅｓ
Ｃ．ｃｏｓｔｓ；ｐｒｉｃｅｓ　 Ｄ．ｖａｌｕｅｓ；ｐｒｉｃｅｓ

（　　）１１．Ｔｈｅ　ａｃｃｉｄｅｎｔ　ｉｓ　ｒｅｐｏｒｔｅｄ　ｔｏ　ｈａｖｅ　ｏｃｃｕｒｅｄ　　　　ｔｈｅ　ｆｉｒｓｔ　Ｓｕｎｄａｙ　ｉｎ　Ｆｅｂｒｕａｒｙ．
Ａ．ａｔ　 Ｂ．ｏｎ　 Ｃ．ｉｎ　 Ｄ．ｔｏ

（　　）１２．Ｉ　ｈａｄ　ｔｏ　ｂｕｙ　　　　ｔｈｅｓｅ　ｂｏｏｋｓ　ｂｅｃａｕｓｅ　Ｉ　ｄｉｄｎｔ　ｋｎｏｗ　ｗｈｉｃｈ　ｏｎｅ　ｗａｓ　ｔｈｅ
ｂｅｓｔ．
Ａ．ｂｏｔｈ　 Ｂ．ｎｏｎｅ　 Ｃ．ｎｅｉｔｈｅｒ　 Ｄ．ａｌｌ

（　　）１３．Ａｃｃｏｒｄｉｎｇ　ｔｏ　ａ　ｒｅｃｅｎｔ　ＵＳ　ｓｕｒｖｅｙ，ｃｈｉｌｄｒｅｎ　ｓｐｅｎｄ　ｕｐ　ｔｏ　２５　ｈｏｕｒｓ　ａ　ｗｅｅｋ
　　　　ＴＶ．
Ａ．ｔｏ　ｗａｔｃｈ　 Ｂ．ｔｏ　ｗａｔｃｈｉｎｇ　 Ｃ．ｗａｔｃｈｉｎｇ　 Ｄ．ｗａｔｃｈ

（　　）１４．Ｃｈｉｌｄｒｅｎ　ｕｎｄｅｒ　１２　ｙｅａｒｓ　ｏｆ　ａｇｅ　ｉｎ　ｔｈａｔ　ｃｏｕｎｔｒｙ 　　　　 ｂｅ　ｕｎｄｅｒ　ａｄｕｌｔ
ｓｕｐｅｒｖｉｓｉｏｎ　ｗｈｅｎ　ｉｎ　ａ　ｐｕｂｌｉｃ　ｌｉｂｒａｒｙ．
Ａ．ｍｕｓｔ　 Ｂ．ｍａｙ　 Ｃ．ｃａｎ　 Ｄ．ｎｅｅｄ

（　　）１５．Ｔｈｅ　ｆｉｒｓｔ　ｕｓｅ　ｏｆ　ａｔｏｍｉｃ　ｗｅａｐｏｎｓ　ｗａｓ　ｉｎ　１９４５，ａｎｄ　ｔｈｅｉｒ　ｐｏｗｅｒ 　　　　
ｉｎｃｒｅａｓｅｄ　ｅｎｏｒｍｏｕｓｌｙ　ｅｖｅｒ　ｓｉｎｃｅ．
Ａ．ｉｓ　 Ｂ．ｗａｓ
Ｃ．ｈａｓ　ｂｅｅｎ　 Ｄ．ｈａｄ　ｂｅｅｎ

（　　）１６．Ｔｈｅ　ｎｕｍｂｅｒ　ｏｆ　ｄｅａｔｈｓ　ｆｒｏｍ　ｈｅａｒｔ　ｄｉｓｅａｓｅ　ｗｉｌｌ　ｂｅ　ｒｅｄｕｃｅｄ　ｇｒｅａｔｌｙ　ｉｆ　ｐｅｏｐｌｅ
　　　　ｔｏ　ｅａｔ　ｍｏｒｅ　ｆｒｕｉｔ　ａｎｄ　ｖｅｇｅｔａｂｌｅｓ．
Ａ．ｐｅｒｓｕａｄｅ　 Ｂ．ｗｉｌｌ　ｐｅｒｓｕａｄｅ
Ｃ．ｂｅ　ｐｅｒｓｕａｄｅｄ　 Ｄ．ａｒｅ　ｐｅｒｓｕａｄｅｄ

（　　）１７．Ｂｉｌｌｓ　ａｉｍ　ｉｓ　ｔｏ　ｉｎｆｏｒｍ　ｔｈｅ　ｖｉｅｗｓ　ｔｈａｔ　ｃｉｇａｒｅｔｔｅ　ａｄｖｅｒｔｉｓｉｎｇ　ｏｎ　ＴＶ　ｉｓ　ｉｌｌｅｇａｌ，

　　　　？

Ａ．ｉｓｎｔ　ｉｔ　 Ｂ．ｉｓ　ｉｔ　 Ｃ．ｉｓｎｔ　ｈｅ　 Ｄ．ｉｓ　ｈｅ
（　　）１８．Ｈｅ　ｓｐｅａｋｓ　Ｅｎｇｌｉｓｈ　ｗｅｌｌ　ｉｎｄｅｅｄ，ｂｕｔ　ｏｆ　ｃｏｕｒｓｅ　ｎｏｔ　　　　ａ　ｎａｔｉｖｅ　ｓｐｅａｋｅｒ．

Ａ．ａｓ　ｆｌｕｅｎｔ　ａｓ　 Ｂ．ｍｏｒｅ　ｆｌｕｅｎｔ　ｔｈａｎ
Ｃ．ｓｏ　ｆｌｕｅｎｔｌｙ　ａｓ　 Ｄ．ｍｕｃｈ　ｆｌｕｅｎｔｌｙ　ｔｈａｎ

（　　）１９．Ｔｈｅ　ｆｌｕ　ｉｓ　ｂｅｌｉｅｖｅｄ　　　　ｂｙ　ｖｉｒｕｓｅｓ　ｔｈａｔ　ｌｉｋｅ　ｔｏ　ｒｅｐｒｏｄｕｃｅ　ｉｎ　ｔｈｅ　ｃｅｌｌｓ　ｉｎｓｉｄｅ
ｔｈｅ　ｈｕｍａｎ　ｎｏｓｅ　ａｎｄ　ｔｈｒｏａｔ．

６
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Ａ．ｃａｕｓｉｎｇ Ｂ．ｂｅｉｎｇ　ｃａｕｓｅｄ
Ｃ．ｔｏ　ｂｅ　ｃａｕｓｅｄ　 Ｄ．ｔｏ　ｈａｖｅ　ｃａｕｓｅｄ

（　　）２０．Ｔｈｅ　ｆｌｏｗｅｒｓ　　　　ｓｗｅｅｔ　ｉｎ　ｔｈｅ　ｂｏｔａｎｉｃ　ｇａｒｄｅｎ　ａｔｔｒａｃｔ　ｔｈｅ　ｖｉｓｉｔｏｒｓ　ｔｏ　ｔｈｅ
ｂｅａｕｔｙ　ｏｆ　ｎａｔｕｒｅ．
Ａ．ｔｏ　ｓｍｅｌｌ　 Ｂ．ｓｍｅｌｌｉｎｇ　 Ｃ．ｓｍｅｌｔ　 Ｄ．ｔｏ　ｂｅ　ｓｍｅｌｔ

Ⅱ．Ｄｉｒｅｃｔｉｏｎｓ：Ｔｒａｎｓｌａｔｅ　ｔｈｅ　ｆｏｌｌｏｗｉｎｇ　ｓｅｎｔｅｎｃｅｓ　ｉｎｔｏ　Ｅｎｇｌｉｓｈ　ｕｓｉｎｇ　ｔｈｅ　ｗｏｒｄｓ　ｇｉｖｅｎ　ｉｎ
ｔｈｅ　ｂｒａｃｋｅｔｓ．

１．每个人都要为自己做的事承担责任，因此任何人违法都要受到法律惩罚。（ｂｅ
ｒｅｓｐｏｎｓｉｂｌｅ）

　
２．尽管有那个富商经济上的支持，那名女演员还是没有能够迅速成名。（Ｄｅｓｐｉｔｅ）

　
３．与他父母的愿望相反，他放弃了在国外工作的机会，回到祖国到一所大学里教书。（ｑｕｉｔ）

　
４．没有先进的高科技设备，一个国家只能停留在贫穷落后的境地。（ｈｉ－ｔｅｃｈ）

　
５．每个人都应该关心自己国家的前途。（ｃｏｎｃｅｒｎ）

　
６．将科研成果应用于生产至关重要。（ａｐｐｌｙ）

　

Ⅲ．Ｄｉｒｅｃｔｉｏｎｓ：Ｆｏｒ　ｅａｃｈ　ｂｌａｎｋ　ｉｎ　ｔｈｅ　ｆｏｌｌｏｗｉｎｇ　ｐａｓｓａｇｅ　ｔｈｅｒｅ　ａｒｅ　ｆｏｕｒ　ｗｏｒｄｓ　ｏｒ　ｐｈｒａｓｅｓ
ｍａｒｋｅｄ　Ａ，Ｂ，Ｃ　ａｎｄ　Ｄ．Ｆｉｌｌ　ｉｎ　ｅａｃｈ　ｂｌａｎｋ　ｗｉｔｈ　ｔｈｅ　ｗｏｒｄ　ｏｒ　ｐｈｒａｓｅ　ｔｈａｔ　ｂｅｓｔ　ｆｉｔｓ
ｔｈｅ　ｃｏｎｔｅｘｔ．

　　Ｃｉａ　Ａｎｄｉｎａ　ｄｏ　Ｔｒｉｃｏｎｏｓ（ＣＡＴＳＡ），ａ　Ｂｏｌｉｖｉａｎ　ｊｏｉｎｔ　ｖｅｎｔｕｒｅ　ｏｆ　ｔｈｅ　ＵＳ　Ｄｒｅｓｓｅｒ　Ｉｎｄｕｓｔｒｉｅｓ
ａｎｄ　ｌｏｃａｌ　ｉｎｖｅｓｔｏｒｓ，ｗｈｉｃｈ　ｈａｄ　ｂａｓｅｄ　ｉｔｓ　ｉｎｖｅｓｔｍｅｎｔ 　１　 ａｎ　ａｌｌｏｃａｔｉｏｎ　ｕｎｄｅｒ　ｔｈｅ
ｍｅｔａｌｗｏｒｋｉｎｇ　ｐｒｏｇｒａｍ，ｃｌｏｓｅｄ　ｉｔｓ　ｄｏｏｒｓ　ａｆｔｅｒ　２　ｔｏ　ｐｅｎｅｔｒａｔｅ　ｔｈｅ　Ａｎｄｅａｎ　ｍａｒｋｅｔ　ａｆｔｅｒ
ｍｏｒｅ　ｔｈａｎ　ｔｗｏ　ｙｅａｒｓ　ｉｎ　ｏｐｅｒａｔｉｏｎ．

Ｔｈｅ　ｐｒｏｓｐｅｃｔ　ｏｆ　３　ａｃｃｅｓｓ　ｔｏ　ｔｈｅ　Ａｎｄｅａｎ　ｍａｒｋｅｔ，ｐｌｕｓ　ｐｒｏｔｅｃｔｉｏｎ　ｐｒｏｖｉｄｅｄ　ｂｙ　ａ５５

ｐｅｒｃｅｎｔ“ａｄ　ｖａｌｏｒｅｍ”ｃｏｍｍｏｎ　ｏｕｔｅｒ　ｔａｒｉｆｆ　ｏｎ　ｂｉｔｓ　ｓｏｕｒｃｅｄ　ｆｒｏｍ　ｏｕｔｓｉｄｅ　ｔｈｅ　ｂｌｏｃ，ｍａｄｅ　ｔｈｅ
ｓａｌｅｓ　ｏｕｔｌｏｏｋ　ｓｅｅｍ　４　．

Ｈｏｗｅｖｅｒ，ＣＡＴＳＡｓ“ｍｏｎｏｐｏｌｙ”ｐｏｓｉｔｉｏｎ　ｉｎ　Ａｎｃｏｍ　ｐｒｏｖｅｄ　ｓｐｅｃｉｏｕｓ．　５　ｔｈｅ　ｐｌａｎｔ
ｗｅｎｔ　ｏｎ　ｓｔｒｅａｍ　ｉｎ　１９７４，ｔｈｅ　ｃｏｍｐａｎｙ　ｗａｓ　ｎｅｖｅｒ　ａｂｌｅ　ｔｏ　ｅｘｐｏｒｔ　ａ　ｓｉｎｇｌｅ　ｄｒｉｌｌ　ｂｉｔ　ｔｏ　ｔｈｅ
Ａｎｄｅａｎ　ｍａｒｋｅｔ；ａｎｄ　ｉｔｓ　ｌｏｃａｌ　ｓａｌｅｓ　ｗｅｒｅ 　６　 ａ　ｓｔａｔｅ－ｏｗｎｅｄ　ｐｅｔｒｏｌｅｕｍ　ｃｏｍｐａｎｙ．Ｔｈｉｓ
ｍａｒｋｅｔ　ｗａｓ　ｃｌｅａｒｌｙ　７　，ｓｉｎｃｅ　ｔｈｅ　ｏｐｅｒａｔｉｏｎ　ｈａｄ　ｂｅｅｎ　ｂａｓｅｄ　ｏｎ　ｅｘｐｏｒｔｉｎｇ　ｔｈｅ　ｂｕｌｋ　ｏｆ　ｔｈｅ

ｐｌａｎｔｓ　２００－ｕｎｉｔ－ｐｅｒ－ｍｏｎｔｈ　ｃａｐａｃｉｔｙ　ｔｏ　ｔｈｅ　Ａｎｄｅａｎ　ａｒｅａ．
ＣＡＴＳＡ　ｃｏｕｌｄ　ｎｏｔ　ｐｅｎｅｔｒａｔｅ　ｔｈｅ　Ａｎｃｏｍ　ｍａｒｋｅｔ　ｆｏｒ　ｓｅｖｅｒａｌ　ｒｅａｓｏｎｓ：

７

Ｔｅｓｔ　２



Ａｌｔｈｏｕｇｈ　Ａｎｃｏｍ 　８　 ａ５５－ｐｅｒｃｅｎｔ　ｃｏｍｍｏｎ　ｏｕｔｅｒ　ｔａｒｉｆｆ　ｏｎ　ｔｈｉｒｄ－ｃｏｕｎｔｒｙ　ｉｍｐｏｒｔｓ，

ｓｏｍｅ　Ａｎｃｏｍ　ｃｏｕｎｔｒｉｅｓ　ｈａｄ　ｐｒｅｖｉｏｕｓｌｙ 　９　 ＬＡＦＴＡ （Ｌａｔｉｎ　Ａｍｅｒｉｃａｎ　Ｆｒｅｅ　Ｔｒａｄｅ
Ａｓｓｏｃｉａｔｉｏｎ）ｔａｒｉｆｆ　ｃｏｎｃｅｓｓｉｏｎｓ，ｗｈｉｃｈ　ｔａｋｅ　ｐｒｅｃｅｄｅｎｃｅ　ｏｖｅｒ　ｔｈｅ　Ａｎｃｏｍ　ｔａｒｉｆｆｓ．

Ａｎｃｏｍ　ｍｅｍｂｅｒｓ　ｓｉｍｐｌｙ　ｄｉｄ　ｎｏｔ　１０　ｔｈｅ　ｓｐｉｒｉｔ　ｏｆ　ｔｈｅ　ｍｅｔａｌｗｏｒｋｉｎｇ　ａｇｒｅｅｍｅｎｔ．Ａｆｔｅｒ
ｔｈｅ　ｉｎｓｔａｌｌａｔｉｏｎ　ｏｆ　ｔｈｅ　ＣＡＴＳＡ　ｆａｃｉｌｉｔｙ，ｐｌａｎｔｓ　ｐｒｏｄｕｃｉｎｇ　ｔｒｉｃｏｎｅ　ｂｉｔｓ　１１　ｉｎ　Ｐｅｒｕ　ａｎｄ
Ｖｅｎｅｚｕｅｌａ．Ｕｎｄｅｒ　ｔｈｅ　ｍｅｔａｌｗｏｒｋｉｎｇ　ｐｒｏｇｒａｍ，ｐａｒｔｉｃｉｐａｔｉｎｇ 　１２　 ｗｅｒｅ　ｃｏｍｍｉｔｔｅｄ　ｔｏ

ｐｒｏｈｉｂｉｔｉｎｇ　ｎｅｗ　ｆｏｒｅｉｇｎ　ｉｎｖｅｓｔｍｅｎｔ　ｉｎ　ａｌｌｏｃａｔｉｏｎｓ　ｏｆ　ｏｔｈｅｒ　Ａｎｃｏｍ　ｃｏｕｎｔｒｉｅｓ．Ｂｕｔ　ｏｎ　ｔｈｅ

ｑｕｅｓｔｉｏｎ　ｏｆ　ｎｅｗ　ｉｎｖｅｓｔｍｅｎｔ　ｂｙ　ｌｏｃａｌ　ｉｎｄｕｓｔｒｙ，ｔｈｅ　ｏｂｌｉｇａｔｉｏｎ　ｗａｓ　ｏｎｌｙ　ｎｏｔ　ｔｏ　ｅｎｃｏｕｒａｇｅ　ｉｔ，

ｗｉｔｈ　ｎｏ　ｒｅｑｕｉｒｅｍｅｎｔ　ｔｏ　ｐｒｅｖｅｎｔ　ｉｔ．　１３　 Ｖｅｎｅｚｕｅｌａ，ｉｔ　ｈａｓ　ｎｏ　ｃｏｍｍｉｔｍｅｎｔ　ｔｏ　ｌｉｍｉｔ　ｌｏｃａｌ

ｐｒｏｄｕｃｔｉｏｎ　ｏｒ　ｔｏ　ｈｏｎｏｒ　ｔｈｅ　ｏｕｔｅｒ　ｔａｒｉｆｆ，ｂｅｃａｕｓｅ　ｉｔ　ｗａｓ　ｎｏｔ　ｙｅｔ　ａ　ｍｅｍｂｅｒ　ｏｆ　Ａｎｃｏｍ　ｗｈｅｎ　ｔｈｅ
ｍｅｔａｌｗｏｒｋｉｎｇ　ａｇｒｅｅｍｅｎｔ　ｗａｓ　ｓｉｇｎｅｄ　ａｎｄ　ｗａｓ　ｔｈｕｓ　ｎｏｔ　ａ　１４　ｔｏ　ｔｈｅ　ｐａｃｔ．

Ａｌｓｏ，ａｃｃｏｒｄｉｎｇ　ｔｏ　Ｂｏｌｉｖｉａ，Ｃｏｌｏｍｂｉａ　ａｎｄ　Ｅｃｕａｄｏｒ　ｅｍｐｌｏｙｅｄ　１５　ｏｂｓｔａｃｌｅｓ　ｔｏ　ａｖｏｉｄ
ａｐｐｌｙｉｎｇ　ｔｈｅ　ｃｏｍｍｏｎ　ｏｕｔｅｒ　ｔａｒｉｆｆ．

Ｔｈｅ　ｗｉｔｈｄｒａｗａｌ　ｏｆ　Ｃｈｉｌｅ　ｆｒｏｍ　Ａｎｃｏｍ　ｃｏｓｔ　Ｂｏｌｉｖｉａ　ａ　ｌｕｃｒａｔｉｖｅ　ｐｏｔｅｎｔｉａｌ　ｍａｒｋｅｔ　ｔｏｏ．
（　　）１．Ａ．ｉｎ　 Ｂ．ｔｏ　 Ｃ．ｕｎｄｅｒ　 Ｄ．ｏｎ
（　　）２．Ａ．ｆａｉｌ　 Ｂ．ｔｏ　ｆａｉｌ　 Ｃ．ｆａｉｌｉｎｇ　 Ｄ．ｓｕｃｃｅｅｄｉｎｇ
（　　）３．Ａ．ｎｏ　ｄｕｔｙ　 Ｂ．ｎｏ－ｄｕｔｙ　 Ｃ．ｄｕｔｙ－ｂｏｕｎｄ　 Ｄ．ｄｕｔｙ－ｆｒｅｅ
（　　）４．Ａ．ｇｏｏｄ　 Ｂ．ｗｅｌｌ　 Ｃ．ｂａｄ　 Ｄ．ｂａｄｌｙ
（　　）５．Ａ．Ｓｏ　 Ｂ．Ａｌｔｈｏｕｇｈ　 Ｃ．Ｂｕｔ　 Ｄ．Ｔｈｅｒｅｆｏｒｅ
（　　）６．Ａ．ｃｏｎｆｉｎｅｄ　ｔｏ　 Ｂ．ｃｏｎｆｉｎｅｄ　ｉｎ

Ｃ．ｅｘｐａｎｄｅｄ　ｔｏ　 Ｄ．ｅｘｐｏｒｔｅｄ　ｔｏ
（　　）７．Ａ．ｂｉｇ　ｅｎｏｕｇｈ　 Ｂ．ｓｕｆｆｉｃｉｅｎｔ

Ｃ．ｔｏｏ　ｂｉｇ Ｄ．ｉｎｓｕｆｆｉｃｉｅｎｔ
（　　）８．Ａ．ｈａｓ　ｇｏｔ　 Ｂ．ｇｏｔ

Ｃ．ｈａｓ　ｉｍｐｏｓｅｄ　 Ｄ．ｈａｓ　ｉｍｐｏｓｅｄ　ｏｎ
（　　）９．Ａ．ａｄｍｉｔｔｅｄ　 Ｂ．ａｄｍｉｔｔｉｎｇ　 Ｃ．ｇｒａｎｔｉｎｇ　 Ｄ．ｇｒａｎｔｅｄ
（　　）１０．Ａ．ｌｅａｒｎ　 Ｂ．ｈｏｎｏｒ　 Ｃ．ｔａｋｅ　 Ｄ．ｇｉｖｅ
（　　）１１．Ａ．ａｒｅ　ｐｕｔ　 Ｂ．ａｒｅ　ｅｓｔａｂｌｉｓｈｅｄ　 Ｃ．ｗｅｒｅ　ｓｅｔ　ｕｐ　 Ｄ．ｈａｄ　ｓｅｔ　ｕｐ
（　　）１２．Ａ．ｍｅｍｂｅｒ　ｇｏｖｅｒｎｍｅｎｔ　 Ｂ．ｍｅｍｂｅｒｓ　ｇｏｖｅｒｎｍｅｎｔ

Ｃ．ｍｅｍｂｅｒ　ｇｏｖｅｒｎｍｅｎｔｓ　 Ｄ．ｍｅｍｂｅｒｓ　ｇｏｖｅｒｎｍｅｎｔｓ
（　　）１３．Ａ．Ｉｎ　ｃａｓｅ　ｏｆ　 Ｂ．Ｉｎ　ｔｈｅ　ｃａｓｅ　ｏｆ　 Ｃ．Ｉｎ　ｃａｓｅ　 Ｄ．Ｏｎ　ｃａｓｅ
（　　）１４．Ａ．ｐａｒｔｙ　 Ｂ．ｍｅｍｂｅｒ　 Ｃ．ｐｅｒｓｏｎ　 Ｄ．ｐａｒｔｎｅｒ
（　　）１５．Ａ．ａ　ｓｅｒｉｅｓ　ｏｆ　 Ｂ．ａ　ｇｒｅａｔ　ｄｅａｌ　ｏｆ

Ｃ．ａ　ｌａｒｇｅ　ａｍｏｕｎｔ　ｏｆ　 Ｄ．ａ　ｇｒｅａｔ　ｎｕｍｂｅｒ
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ＧＲＡＤＥ

　Ｔｅｓｔ　３　

Ⅰ．Ｄｉｒｅｃｔｉｏｎｓ：Ｂｅｎｅａｔｈ　ｅａｃｈ　ｏｆ　ｔｈｅ　ｆｏｌｌｏｗｉｎｇ　ｓｅｎｔｅｎｃｅｓ　ｔｈｅｒｅ　ａｒｅ　ｆｏｕｒ　ｃｈｏｉｃｅｓ　ｍａｒｋｅｄ
Ａ，Ｂ，Ｃ　ａｎｄ　Ｄ．Ｃｈｏｏｓｅ　ｔｈｅ　ｏｎｅ　ａｎｓｗｅｒ　ｔｈａｔ　ｂｅｓｔ　ｃｏｍｐｌｅｔｅｓ　ｔｈｅ　ｓｅｎｔｅｎｃｅ．

（　　）１．Ｔｈｅ　ｄｉｓｃ，ｄｉｇｉｔａｌｌｙ　　　　ｉｎ　ｔｈｅ　ｓｔｕｄｉｏ，ｓｏｕｎｄｅｄ　ｆａｎｔａｓｔｉｃ　ａｔ　ｔｈｅ　ｐａｒｔｙ　ｔｈａｔ
ｎｉｇｈｔ．
Ａ．ｒｅｃｏｒｄｅｄ　 Ｂ．ｒｅｃｏｒｄｉｎｇ
Ｃ．ｔｏ　ｂｅ　ｒｅｃｏｒｄｅｄ　 Ｄ．ｈａｖｉｎｇ　ｒｅｃｏｒｄｅｄ

（　　）２．Ａｍｅｒｉｃａｎ　ｗｏｍｅｎ　ｕｓｕａｌｌｙ　ｉｄｅｎｔｉｆｙ　ｔｈｅｉｒ　ｂｅｓｔ　ｆｒｉｅｎｄ　ａｓ　ｓｏｍｅｏｎｅ　　　　ｔｈｅｙ　ｃａｎ
ｔａｌｋ　ｆｒｅｑｕｅｎｔｌｙ．
Ａ．ｗｈｏ　 Ｂ．ａｓ　 Ｃ．ａｂｏｕｔ　ｗｈｉｃｈ　 Ｄ．ｗｉｔｈ　ｗｈｏｍ

（　　）３．Ａｆｔｅｒ　Ｙａｎｇ　Ｌｉｗｅｉ　ｓｕｃｃｅｅｄｅｄ　ｉｎ　ｃｉｒｃｌｉｎｇ　ｔｈｅ　ｅａｒｔｈ，　　　　ｏｕｒ　ａｓｔｒｏｎａｕｔｓ　ｄｅｓｉｒｅ
ｔｏ　ｄｏ　ｉｓ　ｗａｌｋ　ｉｎ　ｓｐａｃｅ．
Ａ．ｗｈｅｒｅ　 Ｂ．ｗｈａｔ　 Ｃ．ｓｉｎｃｅ　 Ｄ．ｏｎｃｅ

（　　） ４．Ｊａｓｍｉｎｅ　ｗａｓ　ｈｏｌｉｄａｙｉｎｇ　ｗｉｔｈ　ｈｅｒ　ｆａｍｉｌｙ　ｉｎ　ａ　ｗｉｌｄｌｉｆｅ　ｐａｒｋ　　　　ｓｈｅ　ｗａｓ
ｂｉｔｔｅｎ　ｏｎ　ｔｈｅ　ｌｅｇ　ｂｙ　ａ　ｌｉｏｎ．
Ａ．ｗｈｅｎ　 Ｂ．ｗｈｉｌｅ　 Ｃ．ｓｉｎｃｅ　 Ｄ．ｏｎｃｅ

（　　）５．Ｐａｒｅｎｔｓ　ｓｈｏｕｌｄ　ｔａｋｅ　ｓｅｒｉｏｕｓｌｙ　ｔｈｅｉｒ　ｃｈｉｌｄｒｅｎｓ　ｒｅｑｕｅｓｔｓ　ｆｏｒ　ｓｕｎｇｌａｓｓｅｓ　　　　
ｅｙｅ　ｐｒｏｔｅｃｔｉｏｎ　ｉｓ　ｎｅｃｅｓｓａｒｙ　ｉｎ　ｓｕｎｎｙ　ｗｅａｔｈｅｒ．
Ａ．ｂｅｃａｕｓｅ　 Ｂ．ｔｈｏｕｇｈ　 Ｃ．ｕｎｌｅｓｓ　 Ｄ．ｉｆ

（　　）６．Ａ　ｓｔｏｒｙ　ｇｏｅｓ　　　　 ＥｌｉｚａｂｅｔｈⅠｏｆ　Ｅｎｇｌａｎｄ　ｌｉｋｅｄ　ｎｏｔｈｉｎｇ　ｍｏｒｅ　ｔｈａｎ　ｂｅｉｎｇ
ｓｕｒｒｏｕｎｄｅｄ　ｂｙ　ｃｌｅｖｅｒ　ａｎｄ　ｑｕａｌｉｆｉｅｄ　ｎｏｂｌｅｍｅｎ　ａｔ　ｃｏｕｒｔ．
Ａ．ｗｈｅｎ　 Ｂ．ｗｈｅｒｅ　 Ｃ．ｗｈａｔ　 Ｄ．ｔｈａｔ

（　　）７．　　　　ｓｎａｃｋｓ　ａｎｄ　ｄｒｉｎｋｓ，ｂｕｔ　ｔｈｅｙ　ａｌｓｏ　ｂｒｏｕｇｈｔ　ｃａｒｄｓ　ｆｏｒ　ｅｎｔｅｒｔａｉｎｍｅｎｔ　ｗｈｅｎ
ｔｈｅｙ　ｈａｄ　ａ　ｐｉｃｎｉｃ　ｉｎ　ｔｈｅ　ｆｏｒｅｓｔ．
Ａ．Ｎｏｔ　ｏｎｌｙ　ｔｈｅｙ　ｂｒｏｕｇｈｔ　 Ｂ．Ｎｏｔ　ｏｎｌｙ　ｄｉｄ　ｔｈｅｙ　ｂｒｉｎｇ
Ｃ．Ｎｏｔ　ｏｎｌｙ　ｂｒｏｕｇｈｔ　ｔｈｅｙ　 Ｄ．Ｎｏｔ　ｏｎｌｙ　ｄｉｄ　ｔｈｅｙ　ｂｒｏｕｇｈｔ

（　　）８．Ｈａｖｉｎｇ　ｂｅｅｎ　ａｔｔａｃｋｅｄ　ｂｙ　ｔｅｒｒｏｒｉｓｔｓ，　　　　．
Ａ．ｄｏｃｔｏｒｓ　ｃａｍｅ　ｔｏ　ｔｈｅｉｒ　ｒｅｓｃｕｅ
Ｂ．ｔｈｅ　ｔａｌｌ　ｂｕｉｌｄｉｎｇ　ｃｏｌｌａｐｓｅｄ
Ｃ．ａｎ　ｅｍｅｒｇｅｎｃｙ　ｍｅａｓｕｒｅ　ｗａｓ　ｔａｋｅｎ

９



Ｄ．ｗａｒｎｉｎｇｓ　ｗｅｒｅ　ｇｉｖｅｎ　ｔｏ　ｔｏｕｒｉｓｔｓ
（　　）９．Ｗｈｙ！Ｉ　ｈａｖｅ　ｎｏｔｈｉｎｇ　ｔｏ　ｃｏｎｆｅｓｓ．　　　　ｙｏｕ　ｗａｎｔ　ｍｅ　ｔｏ　ｓａｙ？

Ａ．Ｗｈａｔ　ｉｓ　ｉｔ　ｔｈａｔ　 Ｂ．Ｗｈａｔ　ｉｔ　ｉｓ　ｔｈａｔ
Ｃ．Ｈｏｗ　ｉｓ　ｉｔ　ｔｈａｔ　 Ｄ．Ｈｏｗ　ｉｔ　ｉｓ　ｔｈａｔ

（　　）１０．—Ｅｎｇｌｉｓｈ　ｈａｓ　ａ　ｌａｒｇｅ　ｖｏｃａｂｕｌａｒｙ，ｈａｓｎｔ　ｉｔ？
—Ｙｅｓ．　　　　 ｍｏｒｅ　ｗｏｒｄｓ　ａｎｄ　ｅｘｐｒｅｓｓｉｏｎｓ　ａｎｄ　ｙｏｕ　ｗｉｌｌ　ｆｉｎｄ　ｉｔ　ｅａｓｉｅｒ　ｔｏ　ｒｅａｄ
ａｎｄ　ｃｏｍｍｕｎｉｃａｔｅ．
Ａ．Ｋｎｏｗ　 Ｂ．Ｋｎｏｗｉｎｇ　 Ｃ．Ｔｏ　ｋｎｏｗ　 Ｄ．Ｋｎｏｗｎ

（　　）１１．Ｔｈｅ　ｅｎｖｉｒｏｎｍｅｎｔａｌｉｓｔｓ　ｓａｉｄ　ｗｉｌｄ　ｇｏａｔｓ　　　　ｏｎ　ｔｈｅ　ｃａｓｔ　ｇｒａｓｓｌａｎｄｓ　ｗａｓ　ａ

ｇｏｏｄ　ｉｎｄｉｃａｔｉｏｎ　ｏｆ　ｔｈｅ　ｂｅｔｔｅｒ　ｅｎｖｉｒｏｎｍｅｎｔ．
Ａ．ｅｓｃａｐｅｓ　 Ｂ．ａｂｓｅｎｃｅ　 Ｃ．ａｔｔｅｎｄａｎｃｅ　 Ｄ．ａｐｐｅａｒａｎｃｅ

（　　）１２．Ｈｏｓｐｉｔａｌ　ｓｔａｆｆ　ｂｕｒｓｔ　ｉｎｔｏ　ｃｈｅｅｒｓ　ａｆｔｅｒ　ｄｏｃｔｏｒｓ　ｃｏｍｐｌｅｔｅｄ　ａ　２０－ｈｏｕｒ　ｏｐｅｒａｔｉｏｎ　ｔｏ
ｈａｖｅ　　　　ｏｎｅ－ｙｅａｒ－ｏｌｄ　ｔｗｉｎｓ　ａｔ　ｔｈｅ　ｈｅａｄ．
Ａ．ｉｓｏｌａｔｅｄ　 Ｂ．ｓｅｐａｒａｔｅｄ　 Ｃ．ｄｅｃｉｄｅｄ　 Ｄ．ｒｅｍｏｖｅｄ

（　　）１３．Ａｆｔｅｒ　ｔｈｅ　ｔｒａｉｎｅｒ　ｗａｓ　ｓｕｒｅ　ｔｈａｔ　ｔｈｅ　ｗｈａｌｅ　ｃｏｕｌｄ　ｌｏｏｋ　ａｆｔｅｒ　ｉｔｓｅｌｆ，ｈｅ　　　　ｉｔ
ｉｎｔｏ　ｔｈｅ　ｓｅａ．
Ａ．ｔｒａｎｓｐｏｒｔｅｄ　 Ｂ．ｕｎｌｏａｄｅｄ　 Ｃ．ｒｅｌｅａｓｅｄ　 Ｄ．ｈａｎｄｌｅｄ

（　　）１４．Ｉｎ　　　　Ｃｈｉｎｅｓｅ　ｃｕｌｔｕｒｅ，ｍａｒｒｉａｇｅ　ｄｅｃｉｓｉｏｎｓ　ｗｅｒｅ　ｏｆｔｅｎ　ｍａｄｅ　ｂｙ　ｐａｒｅｎｔｓ　ｆｏｒ
ｔｈｅｉｒ　ｃｈｉｌｄｒｅｎ．
Ａ．ｔｒａｄｉｔｉｏｎａｌ　 Ｂ．ｈｉｓｔｏｒｉｃ　 Ｃ．ｒｅｍｏｔｅ　 Ｄ．ｉｎｉｔｉａｌ

（　　）１５．Ｓｏｍｅ　ｐｅｏｐｌｅ　ｌｉｋｅ　ｄｒｉｎｋｉｎｇ　ｃｏｆｆｅｅ，ｆｏｒ　ｉｔ　ｈａｓ　　　　ｅｆｆｅｃｔｓ．
Ａ．ｐｒｏｍｏｔｉｎｇ　 Ｂ．ｓｔｉｍｕｌａｔｉｎｇ　 Ｃ．ｅｎｈａｎｃｉｎｇ　 Ｄ．ｅｎｃｏｕｒａｇｉｎｇ

（　　）１６．Ｔｈｅ　ｔｅａｃｈｅｒ　ｗｒｏｔｅ　ａｎ　ｅｘａｍｐｌｅ　ｏｎ　ｔｈｅ　ｂｌａｃｋｂｏａｒｄ　ｔｏ　　　　ｔｈｅ　ｐｏｉｎｔ．
Ａ．ｉｌｌｕｓｔｒａｔｅ　 Ｂ．ｓｕｇｇｅｓｔ
Ｃ．ｅｘｐｒｅｓｓ　 Ｄ．ｒｅｃｏｇｎｉｚｅ

（　　）１７．Ｍｏｓｔ　ｐｅｏｐｌｅ　ｏｎ　ｔｈｉｓ　ｉｓｌａｎｄ　ａｒｅ　ｒｅｃｒｅａｔｉｏｎａｌ　ｆｉｓｈｅｒｓ，ａｎｄ　　　　，ｆｉｓｈｉｎｇ　ｆｏｒｍｓ
ａｎ　ａｃｔｕａｌ　ｐａｒｔ　ｏｆ　ｔｈｅｉｒ　ｌｅｉｓｕｒｅ　ｔｉｍｅ．
Ａ．ａｃｃｉｄｅｎｔａｌｌｙ Ｂ．ｐｕｒｐｏｓｅｆｕｌｌｙ
Ｃ．ｏｂｖｉｏｕｓｌｙ Ｄ．ｆｏｒｍａｌｌｙ

（　　）１８．Ｉｎ　ｄｅａｌｉｎｇ　ｗｉｔｈ　ｐｕｂｌｉｃ　ｒｅｌａｔｉｏｎｓ，ｗｅ　ｓｈｏｕｌｄ　ｍａｋｅ　ｅｖｅｒｙ　ｅｆｆｏｒｔ　ｔｏ　ｐｒｅｖｅｎｔ　ｔｈｅ
　　　　ｉｎ　ｐｅｒｓｏｎａｌｉｔｙ．
Ａ．ｃｏｎｔａｃｔ　 Ｂ．ｃｏｎｔｒａｓｔ
Ｃ．ｃｏｎｎｅｃｔｉｏｎ　 Ｄ．ｃｏｎｆｌｉｃｔ

（　　）１９．Ｃｈｉｎｅｓｅ　ａｒｔｓ　ｈａｖｅ　ｗｏｎ　ｔｈｅ　　　　ｏｆ　ａ　ｌｏｔ　ｏｆ　ｐｅｏｐｌｅ　ｏｕｔｓｉｄｅ　Ｃｈｉｎａ．
Ａ．ｅｎｊｏｙｍｅｎｔ　 Ｂ．ａｐｐｒｅｃｉａｔｉｏｎ
Ｃ．ｅｎｔｅｒｔａｉｎｍｅｎｔ　 Ｄ．ｒｅｐｕｔａｔｉｏｎ

（　　）２０．Ｔｏ　ｋｅｅｐ　ｈｅａｌｔｈｙ，Ｐｒｏｆｅｓｓｏｒ　Ｊｏｈｎｓｏｎ 　　　　 ｃｙｃｌｉｎｇ　ａｓ　ａ　ｒｅｇｕｌａｒ　ｆｏｒｍ　ｏｆ
ｅｘｅｒｃｉｓｅ　ａｆｔｅｒ　ｈｅ　ｒｅｔｉｒｅｄ．
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Ａ．ｔｏｏｋ　ｕｐ　 Ｂ．ｃａｕｇｈｔ　ｏｎ　 Ｃ．ｃａｒｒｉｅｄ　ｏｕｔ　 Ｄ．ｍａｄｅ　ｆｏｒ

Ⅱ．Ｄｉｒｅｃｔｉｏｎｓ：Ｔｒａｎｓｌａｔｅ　ｔｈｅ　ｆｏｌｌｏｗｉｎｇ　ｓｅｎｔｅｎｃｅｓ　ｉｎｔｏ　Ｅｎｇｌｉｓｈ　ｕｓｉｎｇ　ｔｈｅ　ｗｏｒｄｓ　ｇｉｖｅｎ　ｉｎ
ｔｈｅ　ｂｒａｃｋｅｔｓ．

１．爱迪生失败了几千次以后才成功地制成了第一盏电灯泡。（ｓｕｃｃｅｅｄ）

　
２．没有均衡的饮食和足够的锻炼就不能保持健康。（ｗｉｔｈｏｕｔ）

　
３．许多妇女每年花费大量金钱买时装，以替换那些几乎从来没有穿过的衣服。（ｒｅｐｌａｃｅ）

　
４．火车徐徐出站时，我站在月台上向朋友挥手告别。（ｗａｖｅ）

　
５．２００８北京奥运会距今还有四年。（ｂｅｆｏｒｅ）

　
６．直到最近，我才感到以前从未有过的时间压力。（Ｎｏｔ　ｕｎｔｉｌ）

　

Ⅲ．Ｄｉｒｅｃｔｉｏｎｓ：Ｆｏｒ　ｅａｃｈ　ｂｌａｎｋ　ｉｎ　ｔｈｅ　ｆｏｌｌｏｗｉｎｇ　ｐａｓｓａｇｅ　ｔｈｅｒｅ　ａｒｅ　ｆｏｕｒ　ｗｏｒｄｓ　ｏｒ　ｐｈｒａｓｅｓ
ｍａｒｋｅｄ　Ａ，Ｂ，Ｃ　ａｎｄ　Ｄ．Ｆｉｌｌ　ｉｎ　ｅａｃｈ　ｂｌａｎｋ　ｗｉｔｈ　ｔｈｅ　ｗｏｒｄ　ｏｒ　ｐｈｒａｓｅ　ｔｈａｔ　ｂｅｓｔ　ｆｉｔｓ
ｔｈｅ　ｃｏｎｔｅｘｔ．

　　Ｐｒｏｆｅｓｓｏｒ　Ｓｍｉｔｈ　ｌｉｖｅｄ　ａｌｏｎｅ．Ｈｅ　ｗａｓ　ｖｅｒｙ　ａｂｓｅｎｔ－ｍｉｎｄｅｄ．Ｈｅ　ｕｓｅｄ　ｔｏ 　１　 ｔｈｅ
ｕｎｉｖｅｒｓｉｔｙ　ｔｏ　ｇｉｖｅ　ａ　ｌｅｃｔｕｒｅ　ａｎｄ　ｆｉｎｄ　ｔｈａｔ　ｈｅ　ｈａｄ　ｆｏｒｇｏｔｔｅｎ　ｔｏ　ｂｒｉｎｇ　ｈｉｓ　ｎｏｔｅｓ，ｏｒ　ｈｅ　２　
ｌｏｓｅ　ｈｉｓ　ｓｐｅｃｔａｃｌｅｓ　ａｎｄ　ｂｅ　ｕｎａｂｌｅ　ｔｏ　ｓｅｅ　ｔｈｅ　３　．Ｈｅ　ｃｏｕｌｄ　ｎｅｖｅｒ　ｆｉｎｄ　ａｎｙ　ｃｈａｌｋ　ｔｏ　４　
ｗｉｔｈ，ａｎｄ　ｈｅ　ｏｆｔｅｎ　ｆｏｒｇｏｔ　ｔｈｅ　ｔｉｍｅ　ａｎｄ　ｗｏｕｌｄ　ｒａｍｂｌｅ　５　ｆｏｒ　ｈｏｕｒｓ　ｂｅｃａｕｓｅ　ｈｅ　ｈａｄ　６　
ｈｉｓ　ｗａｔｃｈ　ａｔ　ｈｏｍｅ．Ｂｕｔ　ｔｈｅ　ｍｏｓｔ　７　ｔｈｉｎｇ　ｏｆ　ａｌｌ　ａｂｏｕｔ　ｈｉｍ　ｗａｓ　ｈｉｓ　８　．Ｈｉｓ　ｏｖｅｒｃｏａｔ
ｗａｓ　ｒａｒｅｌｙ 　９　，ａｓ　ｍｏｓｔ　ｏｆ　ｔｈｅ　ｂｕｔｔｏｎｓ　ｗｅｒｅ 　１０　．Ｈｉｓ　ｓｈｏｅｓ　ｗｅｒｅ　ｕｓｕａｌｌｙ　ｕｎｔｉｅｄ
ｂｅｃａｕｓｅ　ｈｅ　ｈａｄ　ｌｏｓｔ　ｔｈｅ　ｌａｃｅｓ．Ｈｅ　１１　 ｈｉｓ　ｃｏｍｂ　ａｓ　ｗｅｌｌ　ｂｅｃａｕｓｅ　ｈｉｓ　ｈａｉｒ　ｗａｓ　ａｌｗａｙｓ
ｓｔａｎｄｉｎｇ　１２　，ｔｈａｔ　ｉｓ　ｕｎｌｅｓｓ　ｈｅ　ｗａｓ　１３　ｈｉｓ　ｂａｔｔｅｒｅｄ　ｏｌｄ　ｈａｔ　ｗｉｔｈ　ｔｈｅ　ｂｒｉｍ　ｍｉｓｓｉｎｇ．
Ｈｉｓ　ｔｒｏｕｓｅｒｓ　ｗｅｒｅ　１４　ｂｙ　ａｎ　ｏｌｄ　ｔｉｅ　ｉｎｓｔｅａｄ　ｏｆ　ａ　ｂｅｌｔ．Ｈｅ　ｗａｓ　ａ　ｃｈａｉｎ　ｓｍｏｋｅｒ．Ｈｅ　ｗｏｕｌｄ
ｓｍｏｋｅ　１５　ｉｎ　ｃｌａｓｓ．Ｃｉｇａｒｅｔｔｅ　ａｓｈ　ｗａｓ　ｌｉｂｅｒａｌｌｙ　ｓｃａｔｔｅｒｅｄ　ｏｖｅｒ　ｈｉｓ　ｗａｉｓｔｃｏａｔ．
（　　）１．Ａ．ａｒｒｉｖｅ　ｉｎ　 Ｂ．ａｒｒｉｖｅ　ａｔ

Ｃ．ａｒｒｉｖｅ　 Ｄ．ａｒｒｉｖｉｎｇ
（　　）２．Ａ．ｗａｓ　ｕｓｅｄ　ｔｏ　 Ｂ．ｗａｓ　ａｃｃｕｓｔｏｍｅｄ　ｔｏ

Ｃ．ｃｏｕｌｄ　 Ｄ．ｗｏｕｌｄ
（　　）３．Ａ．ｂｌａｃｋｂｏａｒｄ　 Ｂ．ｆｌｏｏｒ

Ｃ．ｄｏｏｒ　 Ｄ．ｗｉｎｄｏｗ
（　　）４．Ａ．ｔｅａｃｈ　 Ｂ．ｄｅｌｉｖｅｒ

Ｃ．ｗｒｉｔｅ　 Ｄ．ａｄｄｒｅｓｓ
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（　　）５．Ａ．ｏｆ　 Ｂ．ａｔ
Ｃ．ｉｎ　 Ｄ．ｏｎ

（　　）６．Ａ．ｐｕｔ　 Ｂ．ｐｌａｃｅｄ
Ｃ．ｌｅｆｔ　 Ｄ．ｆｏｒｇｏｔｔｅｎ

（　　）７．Ａ．ｅｘｃｉｔｉｎｇ Ｂ．ａｍａｚｉｎｇ
Ｃ．ａｔｔｒａｃｔｉｖｅ　 Ｄ．ｄｅｌｉｇｈｔｆｕｌ

（　　）８．Ａ．ａｐｐｅａｒａｎｃｅ　 Ｂ．ａｃｔ
Ｃ．ｂｅｈａｖｉｏｒ　 Ｄ．ｃｏｎｄｕｃｔ

（　　）９．Ａ．ｔｉｅｄ　 Ｂ．ｆａｓｔｅｎｅｄ
Ｃ．ｉｒｏｎｅｄ　 Ｄ．ｐａｔｃｈｅｄ

（　　）１０．Ａ．ｌｏｓｉｎｇ Ｂ．ｆａｌｌｉｎｇ
Ｃ．ｍｉｓｓｉｎｇ Ｄ．ｈａｎｇｉｎｇ

（　　）１１．Ａ．ｈａｓ　ｌｏｓｔ　 Ｂ．ｌｏｓｅｓ
Ｃ．ｍｕｓｔ　ｈａｖｅ　ｌｏｓｔ　 Ｄ．ｍｕｓｔ　ｌｏｓｅ

（　　）１２．Ａ．ｏｎ　ｅｎｄ　 Ｂ．ｕｐ
Ｃ．ａｓｉｄｅ　 Ｄ．ｂａｃｋ

（　　）１３．Ａ．ｐｕｔｔｉｎｇ　ｏｎ　 Ｂ．ｗｅａｒｉｎｇ　ｏｎ
Ｃ．ｗｅａｒｉｎｇ Ｄ．ｈａｖｉｎｇ

（　　）１４．Ａ．ｒｏｕｎｄｅｄ　ｕｐ Ｂ．ｓｔｕｃｋ　ｔｏｇｅｔｈｅｒ
Ｃ．ｐｕｔ　ｔｏｇｅｔｈｅｒ　 Ｄ．ｈｅｌｄ　ｕｐ

（　　）１５．Ａ．ｅｖｅｎ　 Ｂ．ｆｒｅｑｕｅｎｔｌｙ
Ｃ．ｃｏｎｓｔａｎｔｌｙ Ｄ．ｃｏｎｔｉｎｕｏｕｓｌｙ
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